ches Time Rno DisTRNCE -

ﬂ_—.———

- WA mn wer a wdald distong with X km [Hr £ come
back wih Yem [Hr | He takes t b o go and come. back .

find the distanc P -
X Km|Hr ¥ km|Hr

-

)

) YK X Hr ‘
. unik D = §/XS2 ‘LTD""J"'““‘J
) . S1+52

" ety pndh ——— b

- bt

i | wndt o

- X —— L kNG

- /|

~ @ n by g toxched) of 3 km |Hr - and sufuny at a speel
of 2em|Hr - If he takes S Hu in ol find the distanw

ﬁunhuvu.taqxh&thcoi?

~ D= 3x XS = 6 km. Am
= ata —
" ® A man vl a artwin distane by Toin @ 26 km|Hr. —

and. wilk bate @ Y km|Hr . The whole gowangy To0Ic
~  sHyus min, what distane did he TawrL by todn .

s‘ L]

S oo 35X x 8 - a0okm S Hr Y& Mip
. e il = ¢y
- = 29
=
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@ A man o @ @ain didene with X km LHY and 5§

comes back with a peed
b more o come ba

undt
4 Hy Hy
xkm|Hr  ykm|Hr
(Y pund—— T
(wnlk — €
g
%
IHLUUJZ 11? x"#’

O_FaKmIH}/ |-F- hﬂ,me-&i'
o than go. find the distence.

D= SIXSz_[diffbjw Hme

S| -S2

-

Time diff = IS min

+L
D= %O—XLI'Q"X s

te—

30 Km

Titane from -house to office
i he trael @ aopm|Hy » then he & lade by lomin ~
buk f he travel @ yo km|Hr then e Hwaches hey offiR
5 min eanlth - And the distane from home to effice .

A

_—

@ Sfm«:hrg from his house ong doy-, a student watks @ 1-st:

and aeaches his school 6 min gato . Next d
speed- 1km [HY and seqches the schogl 6 min easLizr .

how fax, 4 e sthool Tom his house .

Time dJ.F{-‘ =

2. N

S| = €5 K‘an}‘) Y= A5+ = 2.5 Km[H:r‘

D= i:xé!

Scanned by CamScanner

¥ =

—

s

5
F¥Ixt = 2O

b

‘lﬂhﬂ.?}db

-



-

57

:@ A man wwe a wdain didane by- [o km | Hr ancl
- becomes IS Min Lake. put if he travel Huw zame

- dlakane with 12 km|Hr then he be oM Smin e

t L find +the dlatance 7 adibE= 10 nin

; 2=
! = D= \OXF"‘X-I-Q- — 10 kM.

= = -&9—_&

"‘H’Wﬂco\eﬁc,q wdain dugtane onmotuandhf-.
(h

- travel 3 km per hr faster he wodd awe Faken 40 n

ss - BuE if he dovgme his spred 2 km|HY HD

~  he becomes Uo min Aate - find e distance -
Tlde'FF = Yo LIHJ"”"J‘D

PRPLICORE LF S e o

~ 3 25+ = 25-6

- 6=12km |Hy -
- 5 |
N ,(-*f__e__ao_‘"‘ = Yo kmit
- s o . Had -he

.:—@ﬂ man cover. a @dan diatan@ by
T
seavel 6 em |t fastr Hhen B2

) put F he duve 6 km |Hr Blowde Hun he

~  And the distand-

hr s Hime .

—

- 5 SxCS—-G) -?('6"
5 ==
ﬁ = -C;:) “ e - 4 =70
A = 0% % x4 = km
" asria= 3s-1® e = any.

£ g= 30 kM| HYT
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@HMM\J@LQMMMC& by o> Car . If e OB
Pnowase hus speed (o km|H¥ tep he wewtd tuke | He
Lss Hme . Buk 1 he fwdher (Doexse hé Speed fQK_mIHz
than he tukes further (s min lusger time- finel the -

digktane 7 o

U3~

AxCsHo) | = A5t T ISy
+e- -5 3 .

85+80 = TS + (YO =

S= 60 km |Hy j

D= 60XFP v | - y2o km . -

+e

@H’-a.man Hhad walk :.o\cm[Hr-F‘ﬂAﬂ)cmwauLd.» .
have save 1He in the distanwe of 600 KM - find .
hs usual speed. 7 ¥

SX(sH0) | = 600 -
a0 -
¥  Sx(st20) = 12000 Km. 4

Took valuwe of S from options -
lOgX (loot+a0) .
SX ( $+20) S= 100 km | K¥. .

@ In o flight of 6cokm an Avemft siow down due
to bad weather , | '
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¥ Sx(S-200) v | - 60O
- 260 -
T3 S X (6—-100) = 600XxY00
- 600

h S= 600 km| Hr.

-~ CLRASS
- 9

—i

~ @ 1f a tain with a speed of 60 km|Hr

) G038 a4 pole in 20 %%c - find the Kmll‘lh.ﬁ% = MI&Q

- rgthof the frin 7

, Distanu = speed ¥ Timg. tlsec“_g_ i Kmlw‘-k
=

= —'EO':‘«__SFG__)( 30~ - Swnd:f‘

= -

= @'ﬂ\oom.l.ong"‘rmin wi+h a speed of 0@ Km|Hr can
sy a man N how muth fime °

= %

lop = WREXT
9 —+3¢
_ T=12 2RC.

e

@ A ran funn'mg.- akt a 3pecd,o-F 72 km|Hx Cobsed. a 260

- ™ Pplakeform in 2ssec. find the length Of teain ?

260 + Trainlangth = %ﬁ_ﬁ*’__x13 = Y60

Teaun Wngth= Wéo-260 = 200 mir.
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| _
“(s) A2 M lprg/ﬁw.nom% Hopmh‘mn?
langth in 2% %ec- find the gpeed. g ‘
o C \
Total dinstane ww&olb\dfwn
bladfom = 235 s = 850
6
5SSO0 = S.x.;‘ﬁ ~ %x-‘% —
sl 52 e
S 559 = 'E;'"m] 3
— CXOnges &

—_@ & rain sunnirg of o 2
platfoym double of it BN
wngth of the P\aﬂc{m‘m?

wungth of taun = %
lengkh of plakform = 9—"'
Total dlytane in cn;gwng =

X = 180

length of frain = BO M
langth of plat foym = 190K = 360 M.

. Relative Speed
— 26 Two ohjeds in same dlrechon

r S2. Relative Speed = Lsi-sg,)
<__—51 Tuo objects in opposits direction
Sa R?_valw. Spee_d :‘-@I"'SJ_)
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: 61
_H'i'ﬂun QBRL a man wiHh a hbeed.o{i 34 KmlHJ’L- 1:;1_!5

& ®<. find In hour much +time. ikl ik kbt dealh

i which 1 spi. Mora mre_ then o if e
15 ::.‘\'ardmgr on platform .

P ———

\..{
- langth of Train = F%

| S x5 = 300m
[ -

1 = . 3d¢ Llsom
i g | "'“?_ == 50[' mor = ___...5

- Total distane to be owersd by Tradn ! in atesing

; Tradn 2 = 200tYySo = #SPM

| .

| - :lisge =S S 24 T

L. e

|

i ) T = A0 = 2713 %R
- 9

o funnel nhatf of it ungth with a speed

- A holn QDLRs
. +hen find, An howr much Hme

%—%Km\ﬂﬁ- in lm)un.s
i wll ovss another +ain of double length wle A

standlng- on platform with 6oF of it> speed ¥

e P T e s i
)

l o8 » Ti=®0°
- Tyan ungth = ——— »

n U"gﬂ""‘ Th=
[ - Tunnel L0 % n wn'{nﬂ__ 2400
| aL -'-ﬁ-X 5 x6® Total distone
3 -~ —
[ - mﬁ. éof of 3Peed = |2_m[sec.

-~ B Yo )

L=

- Train i = Uo0X2-= goom © gywo= lax t

T = 200 RC _B_ry
- Train2 = 2X800= 1600 M
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62
@ 2 s of same lngth can cxtss a pole in G aecyg

q %&t-_m&{aecﬁuebdf .t houwr much Hme will 'W’H’ CY0hS
each ot if they are coming from opposite dikackion-

4

1 role

) AR

Gk wngthot frin= 63 M “

S| = 63= gqmjsec.

@ 9 trains can cxoss a pele in 4 sec and- 6 sec saspedavelyf -
FindL Tn howr much Hme wll they Cross each otfur W
Hhoy Ort coming- From same dluchon 4 if the peed
of the trains axe An F:9 vahio

S,Pou,
Tm|s ysec Tota] distant= L+sY = 8am
@ £ 30 Relahve Spead in same diyh = 41=2
C..
qms— —

T.lm.EO‘F QY033 = % = U] 2ec.
(22) The speel of tup tran in 4y yabjo iy,

—

‘ | Roth coses
a Yl 0 3 sec while oming from oppwrte diaocHon.

m bow m ' .

Scanned by CamScanner



Al

um}S —

J 63

. amfs 3sec Tl g o 1

RQM"NQ.%PeQd i n opposite
dah = 3+y= F

m 3 3iec

Timeof cxorg= 20 = 3gec Arg
= —_—

st

& @ A goodaﬁmn and. mesengﬂk‘i‘min axL }ulhn'lr\ﬂ’ in same

direhion with a Sheed in the watio 1:2 . Thedwwer
ot goods train obsenver that the bassengee Hain e
from behind. owxtoke and. ciassed. his tmin cormplatoly-

N 6o 2eC. whereas a passengee on passengex Hraun LooKs
that he cess the goods train in ¢qo sec. find tHhe

~vaktio of thain lﬂhg}h ; P
—_—
Gloeds Train () = Imjec _4a >
Pastengex Toatin (P) = amie: o o o imjsee 366

Retatwe speed in same

disecton = &- = I MC  |» P =
Pty =
&1 >1m|sec . L &
- = am)sec. =
el " £
b= Imjsee x YO e ¥ R
h= Yo b g & : fru
-® G : P
(Time Taken Time Taken fo Time Taken +o. C¥0s8
by Paseerger ) Qnss both tewn the govds tran by
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. b4
€D The vatio of peeds of o goods and. papseng®r Town

s 7:9 in same cdaction . |F the qugp),_-'m“n
Cosses Hhe goods feain in 60 sec While a parsengte in
the passenger. hain obsenves that -he comses the goods

Train ©n 25 sec. find the yaho of length of goods
train to passenger. train ?

Length of Good TVOUN () = -1m]sec

(ength of. Pusergor Train(p) = § mlsec
Relative speed. in same diyh = §-7 = 2m]sec.

LP"'(’U = 2X60 = 120

T o> F mjeec
> qmjsec . A P
man :"P #
Relodve Speed = 4-7= o
™ &
Gr= 2x35 = 37o0. 4 R
P+ = 2
.
G
. p
35
€0-2g
35
S
oo
L] 3__ ﬂ_m
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@ A traun ovextakes ¢ man 8»01[18»- akong- the vallwiy- 65
k. ot o gpeed of 6km|Hr in 10 ke 1§ the Lngth
- of the tvain 4» 200 m. find. the speed of the
) hrach ?
o Ten 20 L kM| Ho By et CthKe’l’l
F2064Y 65 (F

———> Man ¢km|Hr
|0 sec -

L = (rorEx

X = 8 km|Hre
- 'E]ﬂgtmiz{lmd,fmm behind a train the driver of
- hain hoars the sound. I min Atk than guaved.. -
i find the lngth of Hin if the speed of train X
g sound. ad 60 Km|He and Hoom]min.

. ! 60,000 - min.
T ™RI5 to00m|min _26_%_.. — |ooom|
. «——— fioom|mID
sound
- D= o0 ¥ _;__ = 150 it
-~ '\:;-/ 2
» Refshve speed
in %ame di¥-
wou W

@ﬂﬁmnmomlmaoln&albnﬂrm Quf-
) Wack ak Y km{Hr & S km|Hr in 3ame diasction in
: o gec & 12 sec + find. the Length of frain .
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6.

losec [ =
soae W . A
< .+ goth Qre langthy
5 :
@-“Ll))ﬂ. o= Qc-g);g%xf‘f L of trains. so
eyuate t+hom)
GX-20 = €x-30
o umt}ﬂon(Loﬂq)u%x\o= s
X = 10km|Hx- TN l 3 ;@;’mﬁ“
loxy = Yo
|2XS = 60
la-to = 2
Speed = _60-40 = (o km|Hr
=4
= S0 ot
= . S xlo = —/—
longth = (lo-4) % 45 X 3
28

A fowin pass fwo person who W walking In
ehpasite in wlc the baun the & MoVing~ @ s mjsec
% lom|sec - In 6 e and Sdec m‘oedjueLgf
find the ngh of train

—rne .
Sm)sece—
6 3€¢

@*s)x«s = Lx'l'ltaxg

10 M |sec<—
S sec.

L= 20m)sec.
length of train = Q“’TS))( ¢

z
&
1
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O/

- SX6 =30 JOXS = SO

0=3°_ = 20m|sec-

- bngkh = (Qots)xe = 150 MAY

) TwO Hains of langth loom & 80 M suspectivelyg ¥un
on paxalleh Ling . If they yun in same direction

] Hmb"cmeqU“DMwLinl%secBui-i-FH“ﬁm
= c.om'mg, from oppesite dixeckon W Cvops each ot in
- q sec. find. W&Feed,oqﬂq%bm-h'ain-

T st disection 7 owms @Y distane (loot8o) =180 3]
- T Gws HIT & o |
- Speed of Jat train (X)
- speed of 2nd train ()

- x-4 = 10
i 1‘1‘3 = d0-
: xr= IS r.tm[.%
" lé.::- s m]sec.

" [a0] A trude Qooses @ man mMoving” akeng- the »oad. at

A smlﬂh-ﬂmmqncouw/heemm% ubte 2 min
ot the time of

i find. +he speed of truk 3 |
- dibapbwnu,mm&o-{l‘fwm'fbmhm

B 2 km 9
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——3{x km|Hr

AG k| Hr K

E—
T 200 Mt ~— 12.00 mt -

— b

~——

; in = 6XZ
dustance +ravelled by man In 2min e

= 0.2 km = 200 Mt*

rod o B
“ew bc’f +Huc= 0011800 = (4oo Tlme"éb'" "

L
30

S= D _ Iye® _ Iyeex30 = Y2 Km|Hr
=

|20

D= SXT
. = [(X=—6 X 2
2 L ) 2
26 = X—6

X= Yakm|Hr

A cauviage dsdving 0 @ 0§~ passed. a man who was

loo m What was the
ibpeed,ab_ﬂw_ -

D= SxT loom = \-‘Lm

| o

T A G“&)xil

o

3: ;v_x__s 2

) -
N
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at ¢
and- ﬁ'M'Man cowd see +he +rain upte 2 min
of di!-&b}:eaﬂnd— the sheed of the train if at the Hime
2 Km L e distan blw train o man was
T % lngth of frain s 300 matre ?

1Kﬂ'\hi’ \
CemlHe I soomr At ilooﬁqhﬁ 300 mt L

dutan@e  covened btf mah i 2min= 2o0omty:

ot digtance By 47N = 250+ 200+ 300 = |Foo MtT -
T: ) = -—l— y
1 mMin 30 Ha

S= ¥

IS = (X-6)X 2
6o

X = &I km|H-

33 | A man cowld. see Yoo M dusng- fog- when he was moving-

with 4 Km|He s he saw a fyain c,ominfaf-'fmm behind. &
disappevad- in 3amin . (f the length of +yain 48 200m
find. the speed. of the Tymin 7

—-— — ——
—

o =T el
m p— - - — —-— -
F _L'P?”-Fm’;‘!-—d:'——‘;hloo m-—-————
Total distenwe by traln= oot4o0td00= [0com = | km
- D= SXT TR dutad] sdve
X= 2y KM]Hr 3‘?{.anbe
B 7.
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_ | r
A carx 4 120 M behind. the bus > 1D how MUh Ky, 0

W WUl be. 60 m ahead. of bur if thote speed. are

Y8 km|Hre and- 60Km\H)L 7

Cax_
\ Y8 km|Hr 30 kM| Hr

Relodive Speed = Y&-30 = BKm[HY
= KX S = gmjsec.
]

_—

disronce 1o be coverad bg &: 2ot 760 = 880 .

Time= 382 _ |7¢sec A
5 —_—
CLASS By Purdeep Chhoker
3 T2664Y465 (3

— ]

@ A thett i» saporid at 10 pm and police. staxded chasi
the thief at 100 am . coleudote of what fme He
p&':m WUL catth the Hhief , it dpeed. of Huef and
Pl@ ane Yo km|pe and. 49 km | Ky .

10:00 pm) — Y2 km| K

O 2 puia hae to cove,
UMH'] RQj.fd'er. S_-,Pged:_qq“qi:.

Time= ‘J..p..'\;xg
—— e Pl
|

U2X3 km dustan@
+ Km|He
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~ R 508 plan> a bomb at a blace and. staxb» Mnh‘lnﬂf‘

) ak 30 M|sec . Affern S6 sec the bomb was blask . in
) How much fime Hw sound. OF blaxk wll be Listen
- by Hae boy if the sheed, of Wund. L» 4SO mM|sec -

-
-

Ik —> 30 m|sec

—

& Sound —> Ysom|sec .

- distanw travelled bav bDH’ in S6%c = 30XS6 ™M

- = Yado mlsec '
~ Relative speed of sound w-att - boY = Yso 30 = H
- Time= x5 _ ysec Sl
: :ﬁp ast
) blast
~ o Pffo ¢ sec. boy will Joan the sound of
i A doy Chases xabbit - The sabbit 45 125 leaps ahead.
= of itself Jumps -fromn dog-- The wabbrt can jumpP 4
i Hres D a Hme in which the dog- con Jump 3
- ﬁm.mmnmwe}mw/wm%&a.dp&m
- one ump > I'¥s and 2:35M M how many. 4umps
- e Wil cakth Hhe yabbt 7
) R ¥ b Dog = 3KN= 33 MfeC:
i anil ' _ 98 M|seC -
- = yx+= 28
] : st vt
- v RMU?. SPCU* Q.F d_pg_, wrt
) n ong JUMP -
| - S 23-38 = SmMseC
¥ - | T\ - X
e = JAEX
I - }//_"pr“t Cha’ﬂr?‘ =
- D°g =

= 13s pec  Am-

. | b qu[% Tn
disane t yw'-:. 1FS k2= S5 ump ANS

A
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9 teins fov dalhi Leaves gaipur ot $20aM & qovam T2
and. travel ot 60 km|He and. 35 km|Hx saspectively.

Howr mang km - awdyg- from aipwe Wil the fwo fain

megt ?

ﬁ ] |
—> 9-300uM "T‘-—-___v—{ {D
T ek S

q-op0um 6 .
I———$Q-ooam Askmlhr ok
Js kM| Hr

i : = 30 Km.
distane travelled bad» Ain 3omin = +*%°
R&LCUHUE. 9:?1% = "%—éo = IS r_mlHY'

Time of cateh = .‘[’*_:;’_= 2 K-

Fom Jaipur Hmd wul megt = FEXL = (SO KM

—

] .00 M
B4l R teain Fraveling~ 25 km|Hx waves delhc af 4

anpthex, teain Traveding- 25 km|He ot
o disechon . Houw mang- e km from deths

goo pm, in L

pathi 25X5 = 125kKM H{ {za.lpuh.
fs‘m\ﬁv 2.00p™ .
T : ang wrt A= 10 km[H
67 a-suzm P"’:r Relodive 8peed of z
3 Taof o= 25 = &

fwqulﬁ&wtf— Mt = distence ravellsd by traun B =
35'?(7:{. = Ya3zd KM
Py

et
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, Two Plaus P& @ ae 162 km apaxt- Tmo%mzmﬁ

.- ﬁ“mp'&&hum.beqchat#wr.qrmmﬁm and. meet

T afR% 6 K. speed of one rmin ds Bkm|Ha Faste han
Other. find the speed of both the Hraine

-

i 162 Kkm

- - X km|Hy ?F-MIHY

- e speed in oppoerte
Xty = HFE -9 Relstive speed | o)

* € dirockion wull be ad

B Xty = 2%

= )f."ld = 8

X= 3 km|He

i d= L4 emlhr.

- [4i] A8 and ¢ wtwd from Delhi at toam - llam & 200

B touuds Goa. & thaln speed arxe 2¥m[H > UKmH &

] skm|H & RFe meeting- on the W, B send. back
A 4o c with a mebgq%q_.g,q-wmfﬁm C wll get
) the message ?

:‘ lo-ooam A= 3kmlHY| 4y ym— ,@
lloo am B = Ykm|Hr Mwhﬂ-
. B Aer P sy v A
_ AintHe= 3 KM Time of mssage HW AXC = ;3
-~ RSofp= IkM|Hr . TS .H._,.,%
" Timuof cakch= _%__:31—11&{4% » =15 MIN
& || poount HF= 200PM meet aX 2.5 Pm.

distane by @ In aur= 3 =12FD.
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Two hains stwcky of same time fom delhi and. 74
falbwe fowaxds each othor with a speed of Bormjy-
and. dS km|H«x. When Hlﬂ.a»' meot the faster aun coves -
180 Km moxe distance than the other. find the
dustare. bjuwr dolhd & dmbujr. -
: 'r —
D J
&_‘_‘
g{ﬁnmr 9s km|HY
Lot meet affer X Hx -
5o dutonce +Havelled b?j 3at feain (0 X H =
distanc traveltaol By & fraun in x KA = qsx-
distane bjlw Delhu & aupur = BxF95L = L
Now :  qsxX—8oXx = [8okm
sx = |80 _
x - 2 He
50 H“ff' will meet after 12 Hr
| g Jupux = [TSKIR= 210 0 kM
pistane biw Det &
ey maet afer B
. _ gofqs = 135S Lm
Tofal distan@=
qs-8° = | i
{
= |2He
. qu%: (%= |
B : bux= [35%|2 = 2lc0tm A
sistonct 80 DAl & Tapu= 35x12 = ook Ay

——
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]

Two traing stwd o same Hime Fom +wo stations
fowards ach other @ 20 km|Ka and 25 km|He - When

- they medt the fastan trrin cover o km moxe distanc

than other. . find He qistance .

. , .

20 km|HY askan |Hr
’ - s

- et they mert after 1w
] Then distang =  Qox|+9SK| = YS KM

25-40 = Skm —— 80
| unit 16 £m -

) - They maek affoe= 1X16 = 16k

distance = 1644S = 320 KM .
= E TWO stations A ard g W llo Kma{w:t- Ohe tadn
) atasts from B atr Foo am and tvavel fouands g .af

, : 20 km|Hse - finothwe Hain stods fom B ar 800 am fowwds
:

- Hai‘:.spmlwb.wwhafﬁmwmﬁuﬂfm?

B 1 Mo km:® J-ts

A - ) Ly
Focom s
20 km|HY
) Relodive speed= @otds= 45 km | He
Rk Timeof maat = % _ Al

" 3 gooam + LHx = 1000 am A
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The distane b|uj+u)0 stations A and B 45 USO Krn-ﬁ76
train stade at Y pm with 60 km|te fom A fo 8
ANothx, Train Maxdts from Sation B ot 320 pm Towwds
A with a apeed of 20 km|He - AT what time wHL -
the poth Trin meds.

By Bingomiy
e ——
"\ | yse kEm """"‘“'—:{B }_“_9_1(8“ i
L [ 1190 F_m—--"'*\ i3 €0
L . 3 Ypm 20 pro = 1o
- 4pm, — e 5T Y
60 k| HY Cokmlyr  gokm |HE S -

\et meet after 1 Hue then distoene = 6ot8o = (4O KM.

\F -
lop ——  Ha4p 11 = ;-g— Hr = &Hr sOMn
Bx4-p 6
-
meek afen 2Hr soomin:
2 Ubmt AHrsOMIN = =Sl
L. - yso km
3-§£me A
vp
%_x—b eokm|HY
=Yogm-

L
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- f teain sads from Taipuk at 1000 am ano_ 77

seach dglht ot 200 pm . fnother. train Steds from

_ddht ok 1am and saach gaibwe At 600 bm -

| , 3ASkm
1e-00am Jrooam-
- S W +F Hr

B lt ddan@ = 26 km.

- o S =
cpeed of p= F km|HY L“‘s"
t - ég,.: S
T Sped of T = S®EM | He =
B meetng Tme = 28 = g4 = 3 HA Qo MiN
: . - Py
# e ey wul mest 1100 + dre2omn = |20 pm D8

") & frain studs from stotion fr ak Fooam and saschis
atakion ® aX Foo pm - Another +in stoets from %ﬁho;ﬁ
- 8 o 900 am and sgaches station B ot s pm. find

" fme when fhey mast ?

] [
) | e ey

ﬁ qooa_m . WLL
- F-o0@M- Gvoam SQHA
- 12 HC? : —y
- . speed

Refafive speed = 242= SKMIME 3
- HT
A meeting Time = _-5”_;_—9_ = 4 He e
P qooom+ U= LOOPM  fng
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A rain stwds fom Delhu at %00 am  seached RWTB
at joam . Another traun stadt» from Agra at 300 am,

& seached pelhl ak trooam + find the mMeedi ng- Hme »

D= e - .
Seoalg 800 Am &
2 Hr <«
A 3 x| Hr
mMmae 15€ and_
Yrime = 6 _
I'12 Hxse 2Hr IHr

800 am + |12

= Si1am A

i : : i
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- A o Y
i tunly 2* —acmin
- 8 Y 3

| - usunlﬁmhkmbgjﬂz Yxao = 2o min

’ 4 By® = 3x3o= 9omin.

—

- B A peuon wunning at {1 of ity wual speed.
veachad o bla in 22 Hxa . How much fime wausl

i he 3ave had he vun hip nosmal eed ?

- SP&QDL Tine AN

: a g

& ( ?—\

s Y Fi

i uni- 22 wsuad Hme = 1Y Hus
i ywndp — 2

He wauld have R 7z 21-1Y= B H -

. Funik Y

~ [s@] A +tain stads from Delhd ak 800 am . Afkx 6 o
hexe wos o breakdown 10 the dwain , dus 1o Whidh
o U dravels 23 of ite novmal speed and ene becomes

Yomins Lz . b the buakdoun wewdd be 200 km
" fwdhes, Yhen & betomes 20 min Lake om.g-.ﬁnd,
" the distonce from Delhd’ o Pgua 7

Scanned by CamScanner



N y—
" “THr*20minN
r ,,-"'-F‘ ‘So—"u.-n--..,_:ﬁ_:‘ ™
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- g~ zeokm- Sl
-2 S=2 _C.an"uf]
3 3
Tl T=2)—a0
6 Hx teompy =l U
30
= FHr wmin 'WD. és
gomin (st timy )

(oviginal fime)
Fiom point B to b usual time of hwin =somin
fimefiom Rtop = THr 20min
Fom ¢ o p wual timg = go min

B o ¢ tain fakes (80—60)=20min and_
s aftanco 1» given 2060 ki |
T':'. 20
20 _ -SLHUL

&o
Speed — 200
; (3 600th“’“
Piskane from A top = SXT
200 "lé
= Sbo-xX 2%
=
= Yoo km Ay,
A B 0
SPeed_ y : 3
5Pee.n|ot._l_
Tme 3 : Yy Time

I speed 0 1 than timeis %
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l g 2 3 ’ .
: I 5 Y Dtk Lo mun
& Xlo
P '?‘Dn'ﬁh
o T= 38 . NN
i e g
- D= 206 km
_ S = 7—?0 = 600 km |Hr
7>
- CLRSS By Pardeep Chhoker
s AQ F2064465(F

@ A man stads from his home to his office with a wdain
opeed. but affex L He he meats With an accident & hesumes

: md-ow\m.a,, after L Hre and. bewmes L Hx 26 min date duue
o rducing- his speed 4o S[6 - IF the acudent woutd. ocusesh

" affex Sokm then he will be 4okt by [Hr20 min . fnd the

- ditane from home #o office ?

e R o

| - - i ﬁmﬁ.—-:-_:_‘_—:_ _ %peed%ri]lﬂ‘

R e L ¢ win g
S e Ar 3T e

T= -i—-_)lu.n.il-—-:l&ﬁ'\'m = é‘)‘“m}——* 26 min

g X 2 '
\ |80 mMin Lwhnﬂ \ o0 mn Lw h"'!CJ

5 & -
'" s 6 . :
N z S_)ftml.k-—-|6mm

‘-' \{Jb\&:n:l'ln
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T= 8¢ - L Houn
60 3

5= sox3 - 1E gm) e

Dutene blw home Jo o ffie = .:1.5;.1("! = |ISD km.

2 guns we fHred from same blae -at an interval O-Pi
28 Muns - But o man 2>i+1-in3- in the Hraln QPPW(M”%
HILPIC{U_ heors Hhe 2nd f—{).qng,_ 26 mun afks Hae 1ak
(£ the ¥eed of sound. As 23S m|sec , find the

peed. of fain 7
\
/ 2 _g_n;ﬁ__n Twun 26 Min
‘00 = = G e
N Mg ,--jszfc‘:pm
(2280 . _ Yoy e -_.5‘-"1'1‘].0
[2.38
Timg Speeq

Toun  —24-13 | B35y asM]s

Sound & "
XJS.
325
Speed o f TVaun = 215 m|s Ms
oR |
= @ :
)& "nnhh'i“ =63 '
9 — -

fqﬂ—,ﬂg'zq ?r&?jrt;:rn ound - | Ia
ghﬂ#mﬁ e
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~ Two qunt were fired from same place at an 1rdesrad
] of 26 mins - Buk a man sitHng- in the toain appreadnr}

- §irg away from the place hawws the 2nd fsung”
s 30 mun affer the 18t 1 Hu speed of frain o 20km|H”

N
g find the speed of sound ?
¢ Time speed
- yLo KH\IH!’
- 28 l Tvaly,  Se-ic L
- o2 I e e
1 e 30 sound. =~ 22— | IS
v B X1
e i a0okm |Hr
v - By

of 7 |58] The buses are deparced q{lhxevo.g,:’_omin,ﬁ
ol man 80|n3..w1d, fom the bu_bd_qPQt afler e%
S aUmin get the buses. find the sheed OF buses
v : the gpeed ©f man » 20 Km|Hs.

1o~ ame

1 = T s onpt
o = do J man A6 §——3opmlir TN
v = Li — i

i a ay = I: X 30

o - laﬁ mlhr ﬁf‘_.

~ [57] Two plaws hep w0 km st s 2B N e q sfmcts

" fom UHH”P' at 8:ay am and an howe Lok Rohd

- M%mdf&ﬁ;q{?mmwwrg—fofom#Dmmmm
ok d‘ﬂa ¢ that mohit -hadl passed. Yo mipn Md}a

~  C falls en the WL Fom A B . if de"""u‘“w‘d
© Bk same fime ,find el Speed .
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ard  afat wWalking- to home with a. 8peed 0f  UD km|Hx,

and must the b in the vy

ak hiy 1
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-

-— - —

Y-4o Emy, 2omi S:00pm) .
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| _ x40 > l{o}:_mlhr

\QC‘

T 200 km|Hr - Ans

) ?'qunQndBm@Kmqpm:.sz&&bM

from A ot same Hime g meet 18t Hme ot & place
'2km from B 3 they have to suach at A afix
imrmnl,m:tt )Lﬂ.‘lfw-c_n 'me B, IF Hhe 3ng_d_ of (owes
Peun o ys kmike . find the diff of thei speed ?

Eg: [at
5 km|HY

# I two or muw objecty stwdy at tame
Hme -Foro.wanﬁm’rhmﬁ%b
tavel +he distance in the vatio of their
epeeds and viw- verna .

B
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- A train apbyoachgs, a tunnel AR , £neide the tunnel 87
_ qm&iﬂﬁﬁiﬂ_d.mtapo]rct e 2|s the durxtonce AB

- M 1M Hie entrance . when e $radn whistle than

| YN the g decicos 10 sun fowards A side e

aun codchos the cot ey ak A - IF the cok decldos to

" Tun towads B side , the train cagches the cat exadtyat
- 8. Fmdraﬁooilzpcmbo{: taln & cat 7

% Cok a» ok point D . Train &
A % 9T B didkence am ¥ . G&
Tvain A poind T WEl Jr ot
D:ch.tr(‘t{j;q ST . WAe

@ hime I toin A B sm
| e FE ¥ o time W cak
@& aim. > same Hime T I
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_yabio W ¥ |

~ B Asesc travels o dlatance of 1200 km from Delhi 4o Mumbai
B+c Fakes a e 2 A stasdy with fonga and. affer a watain
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T by fo dakes A and finallf- thyy sgach mumbai at

. fame Hme - 1F M speed of cur b SO km|kx and. of
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) Townay. . o Houwd ¢ (aeay) distonc
B I Coven FBT T Hime i A QOB
_ b E —IM & AR @ distona cove RO S
" P =t """ _
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I"-Y \\ C / loHAa.
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- @ A man YakeredobHas in wﬂjhn;}, tr. o Caspain diadanti
- and xding- batk on hpase . 1f he suds both sids on

-~ ‘IL"“C Ah.E_ u.,ﬂ.uid -hq.;q_ m,'d_‘ 2Hx 1o min How mdor,

-~

hmae dees by foge or -mmrg, both %ides

- w + A = 6 12
. R +R = Y 0
- 4 "
- 116 2:-10

50 w4+ R = & 30
- ¥
~ 2.0

w = L«[.zo

o w W = Y20 4 Y20 = B4yo Hra Aru

e

. (66] without any stoppage A pYSON trawvl a uatain duistane
i ok an avf specd of y2 km |Hx and. with stoppags b

+ravel Hhe same dotana with 28 km|kx avg speed, . find

howr mang min por howe does hy atop 7

)

] HL<¥ 5 5o F“““M-Sloun*ﬂba
s " Fador Speed] ,
ki ke
: - St 4H0- 20
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of bus 45 SYEM|mn 92
lhdJ-Ldif\% %fUPPU‘}t 4 ys em [Hxk . Howr Moy
UN does the bus slohs pev howe .
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s ’
P el — B rl’IHIl]Ut- P
;'.g_ %
[68) A dwar ; - o
- UD oVerw a distance of 36 km with Bpeeq

of 12 K|Hoe, (F i+ Sfops 12 muUn affer QUert L Km,
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‘hrtu'nf T e

[

%ﬁ_".__
= = 2 Hxy

e shopy 1amin apreq wWeut- LEm .
HL  stops 35 Himes .
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Expruss Train
i S _ GH.
= _ed

. Slobkge Time= 600 - F times  ((2th fing AT cesh nation

s
- W WY o)

_ Thimex 3min= &1 min.

Total 'hn’l.ﬂ Token bb(, Exly‘m'h'a,iﬂ = 6HA2I Mih

i Slowese Traun BO km | Ha, & stops & min in evey H -
2 6 tue + 6¥2(12min)
i - 300Km ((in gHx j2min)
. Tow kbt = qmin o spxE? - qsEm.
‘1~ Totl dighng covered By slower tim fsain = 30%-5 M -

Speed of @ sleam engine i» 24 km |Hy without any-.
~  Wgon - The decinase Tn tpeed of engine L3 dixacklyy
= proporfional do *he square swot of nee of wagons
aktached - If 4 wagons axe attached. with ergine speed
- becomes 20 km|Hr - find Hhe max- no. of wagons whith
T ang oktached with englne 20 that enging can CoruL—.

A Dease « JWJ £ D= 2JW Uy u\ﬂgon"e\’ apttﬂl
] B
- D= Kk JD -rmin%’rz.pud zew D E u{IPdlT means
_ a"‘[“'&Q':.. K. ﬁﬂ’_ g
~ L= kxz 2 gy-  &w an it £

Y3 wogon  fng

] Ay w= 19y \
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md.is:tunw.b)ur 2 stations X and v s 6'50*4"1"494-

-

 Bring %‘fw&.tcg&mk ot Bame Hme hom both stetiony ~
Wﬁa%% and. megt af tx 10 b buk if :

-

ong
D B stachd Y s 20 min affer the firat thay
Mo meat afjex 8 s . fing the speed  of trains.

'__ €SO km . |
1
X km |y —> &g km|Hr
Meting Hmes= lo Hu . \

. Relatve qnmlc'i-{-t,) = 654 = 6S 1S | s )
AC

§SDkm . ‘
AE=—ToEm —= L':H__Smm_ s I I‘
xf_,:"’ R20> T end T '——ell-r-o )
|He xkm|Hr «YkmHr ;
L .

Moot fime = & Mo .

D= SXT= 65 xg- SA0Em .

speed of A in Wvesdrg- (20 km in Y Ha 2o min

= o
S e X3 = 30 km|Hv- q%:;‘ s
SPedOF 'ﬂ'funﬂ mefhf_)::. 30]:.01“17* :
| {
Spee of Tung (yemlw) = gs—30= 35 Km | b
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E']'E]. A .PQHJDT\ travel. 120 Km by a Sttamer ; 460 kKM b;j' traun
- & 60 gm 'Dar Howe . The fotal jgmmd,. tock. 13 HAa 30 min
Cf the vake of Huw tralm B 3 hmes thak of houe

-~ and 15 fimes that of sleamer . Find the wpeed. of FHM
= i 1§ H 5
~ > S  f SN B &
- | o
- H50 4 60 4 A _ 27
_ E28 x re 2
(=4
) ate . 3%
- x b

- speed of TFGUN = 3x = 3X20 =
~ 3] & man tavel 360 km In 4 tue padiy bgzab‘. and_
K Mb&mn.ﬁMhummmm

s ba/CLUL Han he woudd -have wudved. 2 Hrb
B eadist at iy deshnabion and save IS of Hwe
fime he was in train. find the diong fravelid

& b ale and vain separately 7

60 [leHJl-

~ 260 KM TR = LA
- Trodn i Speed in frr = _360KM _ ar | Ha
R % 180 km|Hr - fQHN T
v

= -5 Hx in H

(&5t (14 R * Tyvain fivg = ¥ hous apo T
g . o tx L = 2 .qii}%‘#m
~ Bymyr= %U'K%. =2%0 kM- 5 % time ST
> t= &5 Hn- %‘“WZ‘I

(Y o i — O
B Toun= 360-230= { :“u fie= Y—&S= 1-SHr
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euch obbun ob Samefims S m“f "'“{d o
aier 6 Wwe. If A Traved A of ::”, audd hq

. A ve
frave] with double ©of iy gpeed then .
mok afier s e And L speed. °F

ﬁll GO kM - ﬁ1‘1_:5
X km|Hy = &g km|H”
Rs= -%—-
(= >
w S =is
3 tay = I8 J
Ztar =~
2y = 8 B
g= Y km[He

5 lx: 6 km|Hr

> i [O-l{:.: 6.

& man havel fiom A to B ot 20 km|Hr. and
(ome batk from B fo A at 30 km|ke « find the
V- epeed of the whole Jowensy—.

H‘Ia SI)Q‘ECI = Tok| diskancy

Total Himge -
1 |
| bokm- I
A8 kmpir 30 km Hy
P
S 24 iy
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-
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aTiEe dJ:S‘!'m\QET
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So |000ﬂTt " " 1 =...iO_x loﬁﬂ
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= 55% m B

1
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By what

a yaw of Looo M -

f B _eamghme
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Speed 20 K SmtFme s
x| |xso samg Time TE T & 3T
1000 ac same time & e A F AT
I speed B zatio ¥ distune cover
Twr- fins e

4] 1n @ 100 m v A 7ge oF
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Y 10 sec. find sheed of B.

@ epecd of 9 km|Hi -
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ba B sec. 5

Finel el of o .

Scanned by CamScanner

1qu100\
= mmmﬂm&

Q S’IDEQC(_ O-F SKMI’{}(_ ML
and sty defead -

[



= 01
LI R ,

-~ '1 ” =
A= HEOXI8 - gasec . A ey | == —;‘,?’,

7
=5
——— -

~ B bU'l-u LoWEe 921 m fn 90 3ec -

s = Jx* 23

o T — m)sec .

12

Scanned by CamScanner



